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I 1% mwn: components of ¥’y and P»an which are independent and have modular validity
a  fyy. the white strings and blue string(s) do not depend on each other
b pbam n»an of the hand and n%an of the head do not depend on each other
II  Attribution of the first clause
a  Suggestion: our Mwn is not in concert with 727, who holds that nYan+1a% both necessary
i Explantion: »a1 — both 9130 (white) and n%an % na are considered one — 1R
1 prpom amR isolates each set as independent
ii  Defensel (27): our mwn is consistent with »27 and its intent is to allow for variation in sequence
1  Explanation: ideally, white should be placed first; n1wn teaches that if nYan is put first, doesn’t invalidate
2 Challenge: how could this explain the 2" sub-clause — when would n%>n ideally come first?
(a) Answer (n727): in case of an all-blue garment
(b) Support: parallel conversation between " and YR1nw, with same solution
(c) Challenge (X37): the color makes no difference; in all cases, the white should come first; rather...
iii Defense2 (837): for cases of shredded strings (1n1713)
1 Application: if the n%an strings are shredded short and the white remain intact — or vice-versa — still valid
(a) Per:®»n " n1’s ruling that 23118 !0y and n%n "mMT1 (Mmay mean “blue”, may mean "n>¥’x”) are valid
(b) Note: minimal length of valid pny773, per YRnW — enough to make a knot
(i) Question: is this enough to make a knot in it alone or to knot it around all? —yp'n
(if) Query (»wx "7): what if thick strings are long; so that were they thin they would be able to be tied?
1. Answer (8377 7772 81X 77): all the more so that they are significant (length and thickness) — valid
b Note: position opposing 721 is " (note — he was one of »17’s masters) »11 12 130 "1 DY
i If he doesn’t have n%n, use 125
C  Na7sinference from 871’7 222's rule: we must tie off each wrap-segment
i Argument: if not, the pmT1 which they allow would completely unravel (no %713)
ii  Block: perhaps X»n 7 21 only permit n17 in a case where he did tie off after each ®%1n; not that it is required
d  737s inference: 19y 20 (i.e. the knot at the end of the Y1) is n"nn
i Argument: if it were only obligatory 132771, the nMIn’s “trumping” of 110YW for ¥ would be unnecessary
1 Background: ruling is (>:v m'R%3) that one bow does not establish enough weaving for nnoyw
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